ey 25 Well Bee

(F&%E - 88 (A/8)]

BRYY—ERTEEVA HEXRF

T2 481 BHE

RIBERE o
F1RE SF2RE  EIRE 5 4RE
R SHE 0 370 s 70
(FR/8)
BE (K8 320 420 820 2,000
FIMEREE 4 BREICIR
BE (i 320 420 820 2,55 4 1By 1e 750
M. 2 &LIET 1,850 A
&% (M/A) 300 390 650 1, 850
(MEERIR—EREI8EE (B A/R)]
BEXE1  EXE2 B ENE2 ENE3 ENE4s ENES
18 466 579 627 695 765 833 900
g|Efe 2@ 932 1,18 1,254 1,300 1,530 1,666 1,800
3% 1,308 1,737 1,881 2,085 2,205 2,499 2,700
(MEERIR—EREIEEE (F/B)] %10.55[A/E]ICTHRE
BEXE1 BEXE2 EN#1 BNE2 BNES  ENE4  BNES
18 491 610 661 733 807 878 949
gEFE 2% 983 1,221 1,322 1,466 1,614 1,757 1,899
3 1414 1,832 1,984 2,199 2,421 2,636 2,848
(SEEFAXS (/) | XSREFER(A/B]+RR(A/B]+NERR—HABEP/A)
REERE HiEFE BEXE1 EXE2 EENE1 ENE2 EN#E3 BEN#E4s ENES
E1mE 13 791 910 961 1,033 1,107 1,178 1,249
HommE 1% 1,250 1,370 1,421 1,493 1,57 1,638 1,709
EImBE  1H 1,511 1,630 1,681 1,753 1,827 1,898 1,969
gamp 13 4,041 4,160 4211 4,283 4,357 4,428 4,499
28 4,533 4,771 4,872 5016 5164 5307 5449
3% 502 5382 50534 5749 5971 618 6,398

(B= (k8 #FAME (FA/8) ] XEZE (K FEEMA/BI+REA/BI+M#KRE—-HREEA/B]

RIEERE KEIHE ZEXE1 EXE2 ZEh#1 EN#2 EN#E3 ENE4 ENES
55 1 BB 12l 1,111 1,230 1,281 1,353 1,421 1,498 1,569
55 2 FR B 12l 1, 301 1,420 1,411 1,543 1,617 1,688 1,759
% S ERRE 12l 1,961 2,080 2,131 2,203 2,271 2,348 2,419
% 4 ERfE 18] 4, 341 4, 460 4,511 4,583 4,657 4,728 4,799
22 4,833 5,071 5172 5,316 5, 464 5,607 5,749
3 &l 5,324 5,682 5, 834 6, 049 6, 271 6, 486 6, 698

(E= (RIgE) FAME (A/8) 1 XExX G FEZEMA/BI+RE[A/B]+NE#ERKR—HRELHEM/8]

RIEERE KIBIHE EXE1 EXE2 ZEh#1 EN#2 EN#3 ENHE4 ENES
55 1 BB 12l 1,111 1,230 1,281 1,353 1,421 1,498 1,569
55 2 BRBE 12l 1, 301 1,420 1,411 1,543 1,617 1,688 1,759
% SERRE 18| 1,961 2,080 2,131 2,203 2,271 2,348 2,419
% 4 ERPE 18] 4, 891 5,010 5, 061 5,133 5,207 5,278 5,349
2 &l 5,383 5, 621 5,722 5, 866 6,014 6, 157 6, 299
3 &l 5, 874 6, 232 6, 384 6, 599 6, 821 7,036 1,248
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[L4HERTHET HME] X ERORCMEEESERTEY A,
OBEAHIME (1) 4[84H/B1OY—E RIBRASRIEME (1-2) 12[846/8] 0N ERENSHEME
(1) (FEERx8.3%) ONEMBEBEMANBRENE (1) (FEEM X2 3%) (NEALTREE
R) OMERS 5 I & Y —EBEEEE X 10, 55[F1/Bk] x 0% AERRBERYET (1 ARBEHET)
(GHEH) ENEITEE (K8) MAOSHE EEERA 1 BHLY)
XOMEALTFIERA, S THIC& Y BRICH CTREANELET,

765 (— &3 E1B4E) +4 BHEAHIME) +12 (44— E RIZEEASIME) =781[84/A]

781 (—#h & 1848) x 8. 306=65[#fr/H] (N HEMANBHEME)

781 (—&BE1BEE) x 2. 30o=18[841/A] (NI ASHEMELBHEMY)

(7814+65+18) x10.55x10%=911[H/H]

(ZAEDOAEET HME]
OFEAME 184[BEAL/EIOEFEMRIMEFAERAME 120[ B4/ BICRREEAFTZAME 90[E4Z/B]
ORHFIABICH L TERHIAMEENEZRMT 5155 A0 [EAL/H]

(ZETHEEDEDMmME]
OEFHREENFEME 56 [/ BIOHARINZEATME 12[8E64/BIORERME 8[HEA/R]OCERELR
ME S[EAM/BICOREBEREME (1) 13[EML/BIORBMAEITE - DEERRIEIME 200[E& /]
(7 Bf& L£FR)



